1. REEERITINL (FH6F2H D)

xtbAE | XtRs xS AEH &8 (M)
2H2H ZTOft | RIBRBLEESZSEFNAOmea0i(FEM) 10,500
2H2H8 TOM  |EFHRERADFLE 8,600
2H3H =E | PNSFENEESISEMEFMRUIS0AFLEAM - RESDI(ZE) | 10,000
2H8H Bl |MHBAEEREFREOINOZOH (FH) 5,000
2H9H BN |SREIEE BmnmEBRE0i(TER) 3,500
2H9H BN |RSEE anneiBEE0RHER) 3,500
2H9H BN |ESEEE BmmEBE0i(FER) 3,500

a &t 44,600




2. % FH(BHSFER)

bRy | H(ERY) | REHER | 2EERD) | RE#
= = 1 27 10,000 174,700
- B 3 19 10,500 173,800
B & 1 28 5,000 260,690
8 & W 0 0 0 0
B & 0 1 0 5,000
> i 0 8 0 63,800
T D 2 39 19,100 464,711
a 5 7 122 44,600 | 1,142,701




